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2(5x2 + 9x2) — 5 — 4 + 2x

A+ 4x® + 3(3x2 + 5x2) — 4x?

3(8x+ 8x3) +0x% + 5% — 7x?

3(6x° + 4x°) + 9x — 8x + 4x?

2x— 8x% — 3x— 2(3x* — x?)

H #A:

6x + 5x> —3x% + 3(8x3 — 4x2)

Sx+ 4x% + 28 — 3x°) — 2x¢°

2

5¢0 4+ 5x° 4+ 5¢° — 4 — 5x

3x° — 3x° — 4(9x + 8x°) + 3x°

Sx + 8x + 6x% + 3(3x° — 2x7)
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4

2(5x° + 9x%) — 5% — 4x> + 2x
—4x + 2327 + 2x

4x + 4x% + 3(3x% + 5x%) — 4x?
24x% + 4x

3(8x+ 8x3) +0x? + 5x° — 7
20x° + 2% + 24x

3(6x° + 4x>) + 9x — 8x + 4x?
300° + 47 +x

2x — 8% — 3x— 2(3x% — x?)

—12x% — x

H #A:

6x+ 5x% — 3% + 3(8%° — 4x?)
24x> — 102% + 6x

Sx+ 4x +2(8x° — 3x°) — 2x?
10x° + 262 + 5x

50 + 5 + 5% — 4x? — 5x?
15> — 9%*

3 — 3% — 4(9x + &) + 3x°
—29x° — 36x

5% + 8x + 6x2 + 3(3x° — 2x)
O + 5% + 8x

www.snowmath.com

o



https://www.snowmath.com

